Consolidation work 34 Second Level ***

1.  32.6 + 12 + 3.67 + 13.8
2.  5500 divided by 50

3.  7634  =  ____ x 100?

4.  30% of 785

5.  5/8 of 6416 litres 

6.  Write four fifths as a decimal, fraction and percentage.

7.  0.8 litres = ___ ml?

8.  In a class, the ratio of pupils supporting a rugby team to those supporting a football team is 4:6. 18 pupils support a football team so how many support a rugby team? 
9.  Simplify 270/450 (in its simplest form.) 

10.  Fraser earns £63.85 a week. How much will he have earned by week 8?

11.  Round 2.96757 to three decimal places.

12.  Some dinosaurs lived in a forest where the temperature could range from 36 degrees to -7 degrees. What was the size of the temperature range?

13.  4y – 3 = 21. What is y? 

14.  What are the missing angles in this parallelogram: 90 degrees, ??, ??, ??

15.  What is 10 squared subtract 4 squared?

16.  What is the area of a rectangle with: length = 0.12m and breadth = 6cm?

17.  Order from the largest to smallest: 98,  98.06,  98.6,  96.8,  68.98.  89.96

18.  Write in digits: three million, two hundred thousand and thirty-four. 
19.  A scale drawing of the pitch was made for the manager. The scale was 1cm to 3m and the pitch was really 15cm long. How long was the pitch in the scale drawing? 

20.  7009 - 5976
